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10 |£ B i) 0.0 24 1.3 22 60.4| 5 1,370.8| 7 1,010. 3] 2 86.7| 5 [t % BT(10
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15 |# 53 BT 352.1| 14 3.2| 19 67. 3 2,623.8 1 723.0| 24 85.3| 9 % g BT(15
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R bil 89. 1| 11 64.2| 6 90.9[ 9 49.3 10 B bid |6
-3 il 78.8| 19 38.0| 17 80. 1| 17 48.9 12 = 5 | 7
iF il 69.6| 22 30.8| 21 70.9| 23 47.3| 15 |= iF w8
i H| 82.8| 14 36.0[ 19 90.8| 10 47.4( 14 |8 b | BT( 9
i3 BT 52. 4| 24 36.1| 18 711 22 34.1| 23 £ g fr| 10
;A AN 91.9[ 6 34.3| 20 87.4| 15 9.9 1 M H A AW |11
12 Eix H| 90.0[ 9 40.8] 16 79.6| 18 47.8] 13 1B Fin BT(12
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